( Bt b {14k / HOT-WIRE TYPE THREAD TRIMMER )

FEUREHEBRIZ. AMS210DHLE350SZAL6 It DWTDHARTY .

HHTCEHED AMS-210DHL-6300 R AMS-2100 OBREHIAER® [K2(CDVTD

FBRER] £5d. THEROLTCERLEZVL,

e, RO FHRICHBEEBLTVETOT. TREBICDVWTERLLESL,

@ MEFHE . AFMLIEDFTTOTRNEEH <A RUDEMMICRFEEERGEDITENT
RS,

@ AOBICENEELEYT. BAICEELEERETCEDIREFHAINDIEER. TODE
ERDEFVRICTOTERLES L,

G mEMEARISEREIESNEES. K2 LAAL G N, BRETE THRE NGEWL
EJCHE>TVET. 2FD, RYDETELWI LEICHDERT.
B8, AUNaHE TBHERE OFF CRELTHDET,

CAUTION :

This Instruction Manual is the Instruction Manual for AMS-210DHL6350/ALS.

Read “Safety Instructions” described in the Instruction Manuals for AMS-210DHL-6360 and

AMS-210D packed together with this machine and fully understand them before using your

AMS-210DHLG6350/AL6.

In addition, be careful of the following items since since hot wires are used for thread trimming.

(D Never allow your hands to come near the thread trimming place since the hot wires become
very hot when they are heated.

@ Smoke occurs at the time of thread trimming. Be careful that you do not breathe in the smoke
when using thread which occurs harmful smoke for the human body.

(3) When the sewing machine is temporarily stopped during hot-wire heating, immediately heating
is interrupted for safety and heating is not performed until the sewing has been completed.
After all, thread trimming is not performed.

In addition, thread breakage detector has been factory-set to OFF at the time of delivery.

No.1301-00
29347804




L BB B e s st nee e 1
T B BB e b e e s e b e b 1
2. BB e —————————————— 3
. fRSFEIEE ..o st cssss s e s b sa s b ene 5
T. EREDDGIBEIREE ...t es s s sssssesssasssannes 5
2. THREDHUBDREE ... sssessssssseessenns 6
3. FRIBEDHUBDTEE ..o escssnnnsssrssss s sssssssssssssssssn 7
A, FEIDFTA BDFEE ...t s b s 8
5. DO EREIHITD .....conerrrrerrscrcrcemmmmersrssesasecssmnssssmsssssssissssssessssssssssssesssassssenns 9
B-1. 88T —F ATIFIE (007, O02) .orvcrrcrcererecrsrcrnsveresrsssessesssssssssssssssns S
5-2. SBHT—FANFIE (010, O20) ccivrrrnrnrrrenererissssssssssssssssesasessssssssasssesees 12
B. LT [CDOUYT i s cssssensassessescas s sesssssssnsssssssasness 15
7. FOHIDTREE ..o s ssesesissbssssssasssssesssssssssssssssssasssones 16
11 A R OO 20
V. T7—BCEER ...cocreermrrercrmnssesscasessesses s ssssss s sssassssenss seessmsssssssrasees 21
V. IV U A D s cesesnisssnnesscassannsssesansssessssesssssssssensssesassensssssenas 22
CONTENTS
I . QUTLINE ..coiitieneeemiissnsmnmssnnmsmsssssssssssssssrsenssmsmsmssnsssssssasnsssnsassenansansnsnsens 1
I =T (T = 2
2. Specifications ... G e s 4
II. MAINTENANCE AND ADJUSTMENT ......coociiinicinesnsnsennssassnsassnnannes 5
1. Adjusting the needle thread trimmer position........cccvnriiinnnnnen, 5
2. Adjusting the bobbin thread feeding amount..........ccccciiirirnnnnien, 6
3. Adjusting the needle thread feeding amount ... csneen 7
4. Adjusting the thread trimmer guide ..........ccorrvcnr e 8
5. Thread trimming drive CONtrol ... s 10
5-1. Sewing data input procedures (001, 002) .........cccssvremrcrrmscmmcemsissensissesnsenss 13
5-2. Sewing data input procedures (010, 020) .........ccorscnnsirniennsscnicnansnnisnine.s 14
5 o T 0 O 15
7. Other troubles ...t s e msasm s s en s semarssmn s 18
II. BLOCK DIAGRAM .....ccoiimmimrmmcccinnnisnssnnr s s s s s as s msmssssssssssannnes 20
IV. AIR PIPING DIAGRAM ... s sssss s s anmsssss e snessssas 21

V. PARTS LIST vt snesnsesssunss s s sssssssssss e 22



(1 .18 = / OUTLINE )

AEEE, A5 REIHIHROD AMS-210DHL-6300 IR —F —HDORYD REE KB U= Y
EHDTWVWET,

This sewing machine is a sewing machine provided with the hot-wire type thread trimmer to the slide thread
take-up type AMS-210DHL-6300.

O B —Y—FBICLD,. ABFTHEBICURTIEETT .

@ RUIDOEBOMEAAREFCH UTEERERETT,
(ERONNEBSAG . ABHAOARREIC TREFhRC G, BRIETER, OIS PTHE.)

@ REBDOUCUMT2TEICED. REDNHIEHRHIESNFTT .

@ #AREOHDELR. BULBHORBDENMETEHFET,
(EAROBERIC L DT ORMMROHVE, BURDDEFARED DML TEB TG )

® HOEDDHOREDEN A XRDICHEARE 1 1/2 LIFEME > TNET,
FRAROBIUE TIENAETY )

® BLDARPOERE)Y A = JEABABAICTHERREARETY .
(SRR - TRUD— BREBOHU—~ERYID) | ERERRENE.
(FEERER | - EREDHU— ERUD—-TREID) | FROBIZRERR.
(IEGREFID - EREDHUL— ETERAREID) HEREGED] [ KOARVIDREDIEW,
(HEEGREAL - FRET0—EREDHL) L RO,

@ BGHA RICLDBEREMANDOBD UEHHIETEF T,
(Lt FE S BGR S ORBERERT DT EICLD, B BRRSERCMNODZRITT.)

WERD A AR D EBE L HAHTHE,
(FEEHRER BT A [ ——AEZODFFBEEIRTEEXT )

@ BSEBREDERON /2 [DNEYEENICR, BRIERICHBITHFRENHLLTVETY,




(D By adopting the hot-wire heater, thick thread can be easily cut,

@ Thread trimming time can be optionally set in accordance with the thread count.
(Start of heating the hot-wire can be performed during sewing or after completion of sewing by optional
external output setting.)

(3 Thread is cut by fusing, and it is effective to prevent thread from fraying.

@ Bird's nest at the start of sewing can be reduced since the needfe thread remaining on the needle is shorter.
{Needle thread remaining at the start of sewing can be reduced since thread is hard to come out from the
needle eyelet because of the needle thread resulted in a ball by fusing.)

& The amount of thread remaining on the needle at the end of sewing is reduced by less than 1/2 as compared
with our moving knife type thread trimmer.
{The after-treatment process of remaining thread is not necessary.)

{8 Respective thread trimming drive timings can be optionally set by the external input/output.
(Standard setting example  * Bobbin thread trimming - needle thread feeding — needle thread trimming)
: Amount of remaining needle/bobbin threads is small.
{Optional setting example [ » Needle thread feeding — needle thread trimming — bobbin thread trimming)
: Amount of remaining bobbin thread only is secured.
(Optional setting example II « Needle thread feeding — simultaneous thread trimming of needle/bobbin
threads)
: Thread trimming time to cut thread is shorter than that of the optional setting example 1.
{Opticnal setting example Il » Bobbin thread trimming — needle thread feeding)
: Bohbin thread only is cut.

I The hot-wire guide can prevent sewing material from being fused.
(The direct contact of the hot-wire with the material can be avoided by securing the interval between upper
surface of material and the hot-wire.)

Both the conventional moving knife type thread trimmer and this one can be used.
{The standard throat plate asm. and standard wiper set can be replaced.)

(3 Working property in sewing operation is improved since the whole hot-wire device is miniaturized by
approximately 1/2 as compared with the conventional one.




(e aE&E )

@ REY - REVT—2 . AMS210DHLB300 DASA REUA MRS BIE. 1858

@ RED D ETRRTEREK (ERY 4 =2 UER)

® @ AR D BA# (2250 F T IUBIROEERR)

@ @ A & © DPx17 #2614 (#22 ~ 26, Nm 140~ 230)
® ATv3av O B=FE T (D4012010NAH)

O Z—FRIbo—5— (B4720221DA0) [MhCEBEAFHLE, NSIE]
O ¢ 3.5V (D40020 10NCK}
OCEA3x44 (D4021D10POP)
O%IFE 45 (D4002D 10NGH)
O AREATENR (D40180D10P0PA) [ZE] B]
® g =
HUORER A2 1.5 sec (TBETE) (M—EAF X7 007 AUD 9 &ETNARER]
UEER T GIFA) ERRE. SINAKBEKR2.5 sec LIAKS]
[AHRATEUR FIED BY ARG, £8BBRIEX 3.0 sec LINEST]

Om B
FEOES L=1mmUT GrUID A FORBBBICEDERULET.)
T =2 mmUT @EREHOBESPESICIDERGLFT )

e
HIREBEIDICIBEM AU, RN (I,
HRERDIEMBIESIEDOR, HEAREE. (LTFYUYI—OZEXERE. 0.25~0.28 MPa)

® % 8
SERIRITBHIERD,. BOEEFENE T EREDHUERARRNY U Y 5 &,
THROEEICHERIEROBAREZAEORE S UGB TREOH UK.
I7—HES
3.6 N £ /min
% ATV avDI— NLy—S—FROEEIE. JULTEREG5N £ /min
[ 7LwH—E. 750W (1 ) BLEOBOZEER TS, ]




(2. Specifications )

(D Bobbin « bobbin case : Equivalent to the slide thread take-up type AMS-210DHL-6300 for 1.8-fold capacity

hook
@ Thread trimmer : Up/down independent drive type (optional timing seeting type)
(® Applicable thread : Max. #1 (chemical fiber system thread within 2250 denier)
@ Applicable needle : DPx17 #26 (standard) (#22 to 26, Nm140 to 230}
& Optional C Thread tension No. 3 asm. {D4012D10NAH)
(O Needle cooler (B4720221DA0) [Solenoid valve, etc. required.
See V ]
O ¢ 3.5 needle hole guide (D4002010NOK)
(O Oval needle hole guide 3 x 4.4 {D4021D10P0OF)
(O * Standard ¢ 4.5 (D4002010NOH)

O Lower hot-wire for thick thread (D4018D10P0OPA) [Engraved mark B}

® Efficiency
Thread trimming time : Standard 1.5 sec (oplional setting) [Service disk 001 : starting heating 9 stitches
before thread trimming]
[When the lower hot-wire for standard {(engraved mark A) is used, total heating time within max. 2.5 sec
should be strictly obeyed.]
{When the lower hot-wire for thick thread {engraved mark B) is used, total heating time within 3.0 sec
should be strictly obeyed.]

@ Quality
‘Length of remaining thread : Needle thread = less than 1 mm
{It varies in accordance with the adjustment value of thread trimmer guide.)
Bobbin thread = less than 2 mm
{1t varies in accordance with hardness or thickness of sewing materials.)

Safety
Periphery of the hot-wire is provided with insulating materiais and protecting cover.
Air ragulating valve is provided to protect hot-wire sections from destruction by contact.
(Air pressure to up/down cylinder : 0.25 to 0.28 MPa)

® Functions
Needle thread feeding amount adjustable type cylinder is provided in order to prevent needle thread from
slip-off and to reduce bird’d nest.
Adjustable type bobbin thread feeder capable of adjusting the amount of remaining thread required at a
minirmum of amount to knot bobbin thread is provided.

Air consumption
3.6 N £ /min
% When the optional needle cooler is used : 65 N £ /min when vaive is fully opened.
[Use a compresser of 750W (one horse power) or more.]




(I . {R5FE%E / MAINTENANCE AND ADJUSTMENT )
(1. EE1D BT / Adjusting the needle thread trimmer position )
(BT OEE T & > TESABLET)

(Adjust the height in accordance with the thickness of material to be sewn.)

DB T | REOEHIC L DBREH<H. BERY, T7—RBEND. BENYILEEATHENE
T B | inmenoccrean,

WARNING :

Turn OFF the power, cut the air supply, and ascertain that the sewing machine does not run even
when depressing the starting pedal before starting the work so as to prevent accidents caused by
abrupt start of the sewing machine.

N RIS, PR EL AR LTS,

1) IP—FiEEEd,
(LF2LF—EEOICLET,)

2) EHRU@EEDFET,

3) EEDOFEHALOF 2 EIEHET,

4) RO KRBT VY —R FO—2 TV R
FTAIEMIE UTCREET, it PRI T 2
E3ICLET.

FLT. BEOEHOEELT HRDEES
thE FFEUET,

5) Fr—F—HEOOKHOE HO@DHLIEON

- A5ESICRUBICTHERLET,

N 6) ABCO®s@DhMIBEADEET.

7) @OODIIBEANA 5. ETILHRCO
. WIC. BEDEH AU 2 EiHih
=,

* Remove the intermediate presser once before
adjustment.

1) Exhaust the air. (Set the regulator value to “0".)

2) Loosen setscrew @ .

3) Loosen two fixing knob screws @ .

4) Adjust the needle thread rimmer so that it comes
in contact with the top surface of the material in

Y. the state that top end portion @ of the thread
trimmer is stretched to the cylinder stroke end.
Then turn adjusting knob @ to move the whole
needle thread trimmer unit up and down.

5) Adjust with screw @ so that top end @ of upper
heater rod @ fits center position @ of needle @ .

6) At the same time, adjust the center position of @
to that of @ .

7) When the positions of €, @ and @ are adjusted,
tighten setscrew @, then tighten two fixing knob
screws @ .

'

/




(2. FA#2bHUBOER / Adjusting the bobbin thread feeding amount )

(FHROBEHICHERBERORE Vr—ANSDRZHRETEZHB LI T ROERZEN

ELET)

(Length of the remaining thread from bobbin case required at a minimum of amount to
knot the bobbin thread can be adjusted. It is purposed to reduce the bird’s nest.)

Qe L. | FEORHICKDIEHEH<E. BRERY. I7—HSEND. BBNYIVEBATEENG
IE:%& WHREETIT o T 12,

WARNING :

abrupt start of the sewing machine.

A Turn OFF the power, cut the air supply, and ascertain that the sewing machine does not run even
when depressing the starting pedal before starting the work so0 as 1o prevent accidents caused by

N

1) @DIEHRLZEREDET,
2) @O TREDBEULIRZ® OHBICHELET,
* DFHETTROBOHUEDE JILDEFET,

(REVT —ADSDERRENE LD FT.)

e @/KETTHAROBDHULED ML LHEDET,

(RE T —2AD O DIFREDMELHEDFT,)

3) BEARD OICHODIEH R UERDFET,

O DLEHRLE @D THREDRINIEVERIC
ERLTLES L,
N3 ENRERNBLEDET,

3)

Loosen setscrews @ .

Adjust bobbin thread feeding plate @ to direction
Dor®.

Bobbin thread feeding amount increases in
direction .

{Amount of the remaining thread from bobbin case
increases.)

Bobbin thread feeding amount decreases in
direction @ .

{Amount of the remaining thread from bobbin case
decreases.)

When the adjustment has been completed, tighten
setscrews @ .

Be careful that setscrews © do not come
in contact with lower hot-wire @. Heating
speed is delayed if they come in contact
with each other.




(3. ExEDHUE0OFRE / Adjusting the needle thread feeding amount )
(LR OIEEHIC Y EREROH O SORED BEERRLE T BORMEANE UET,)

(Length of the remaining thread from needle eyelet required at a minimum of amount
to knot the needle thread can be adjusted. It is purposed to reduce the bird’s nest.)

\ 23X | FEORBICLIBMER <A, BRERY, IP—HHaEVD. BRNYILERATORNG
" IE:%& WREIGITo T &L,

WARNING :

Turn OFF the power, cut the air supply, and ascertain that the sewing machine does not run even
when depressing the starting pedal before starting the work so as to prevent accidents caused by
abrupt start of the sewing machine.

N ( | )

1) BREgnH LYY v -DRA by \—@ZEFTHUTIEY,

2) ERBOHLUBICLHHRODBENHUBEWRELET . (D=31 mmTEHAIXDEMR 18 mmElR)

3) HHRODBEOHUEEZ LT BICF. DOERZESLFET, TOR. @DF v M@z NELF
T, PFELITDESE. BICELFET. DOEFHNAT LSO TOEEELET.

4) EMOBFESTHRUT. BREDHUODR FalsODAR s ditt FE@D SOEHEHEELEY,
BiEHIC. TIEHEREE. MR tAiro088 H =12 mm Z2BRICHELTVET,
FF. @ODIEHHaL 2 RS, @ORMNEZ L THEL. FRESIHERELERT,
BRICOORUEBELET. 8. @, #T7¥avOI—RILo—>—EEFRARUTY.

5) ®IC, @OETEE ETHEEULCEICED. HRODEODHUESEDDETOT,. @DiLHAL
4ARCTEAEDHUEBR R L THRBLET,

% @EFTHUCALA—XIC L TENT 2 EEMELENS ETHRBET O TIRT L,
FOBRICS| N D N5 2BEE. OC@DEDRUICTHREIZS .

1) Press down by hand stopper shaft @ of the needle thread feeder cylinder.

2) Check the feeding amount of needle thread @ by needie thread feeder @ .
(in case of D=31 mm, the remaining amount of needle thread is approximately 18 mm.)

3) To increase the remaining amount of needle thread, increase the distance of D. At this time, loosen nut © and turn
it counterclockwise. To decreass it, turn the nut clockwise. When the distance D is determined, fix @ with @ .

4) Secure the distance from the top end of needle thread feeder @ when it is in the lowest position to top surface @
of the material in accordance with the thickness of the material.
incidentally, the height from the top surface of throat plate H is set to 12 mm as standard at the time of delivery
from the factory.
First, loosen two setscrews @, adjust installing base @ by moving it up or down, and set the optional height H.
Finally, tighten setscrews @. In addition, @ are screws used both for setting the installing base and for fixing the
optional needle cooler.

5) Next, adjust the whole needle thread feeder unit with four setscrews @ by moving it up or down since the feeding
amount of needle thread @ changes by adjusting installing base @ by moving it up or down.

% Press @ by hand and check that it smoothly moves up or down to perform the up/down adjustment. At this time,
when it does not move smoothly, adjust it with setscrews @ and @ .

-



(4. % 5 ROFEE / Adjusting the thread trimmer guide )

RO RICHFHRREM FEH S ORIZDBORE, RURRIC X DEHNEM~OBH

UBhitZEHIELET )

(Amount of remaining thread from the top surface of material to be sewn after thread
trimming can be adjusted. In addition, it is purposed to prevent the material to be
sewn from being fused by the hot-wire.)

e T | FEORBICLDEHEH <R, BERY. I7—EHBREND. EBXIIEBATHHHE
ZHEEE% WREETIT o TL IR EL,

WARNING :

abrupt start of the sewing machine.

o Turn OFF the power, cut the air supply, and ascertain that the sewing maching does not run even
A when depressing the starting pedal before starting the work so as to prevent accidents caused by

\

1) @DAFRINTODHARZYDIRIC, @DEHZ

BOETENL DITHRETD 7 ROICT h DR
ZRRLETD,
FF ODEHRU 2 XZEDET

2) @z LTRSS A PSR TEEBRhCERB LETD.,
3) h OEBHIRFE o fc o@D ET,

1)

2)

3)

(h=0 Bol8s)

ERIOARYVIO 4 RO, OBHOERZRLE
FTHRDEBDTY,

Clearance “h" is secured by thread trimmer guide
@ so that material @ cannot be fused when needle
thread @ is trimmed with hot-wire plate @ .

First, loosen two setscrews @ .

Stide @ up or down to adjust “h” to the optional
clearance.

Tighten @ when clearance “h” is determined.
(h=0 is possible.)

Upper side thread trimmer guide @ is for preventing
@ itself from being deformed.




(TBHEEE. ARUTHIZ OFF ICE>TWET )

ARUIDERERIEIE. TNTHEENICKDRET —F LICTITVETD,
5-1 Fcld5-2DER T — Y ALFIB RURNBOY AT 1 A0 F—5ESEICU TRETIDTIET—
SRR LTIV, B, BRAFEHICHUTCTRO 4 BRODSET I RANSNTVET,

e I— fAJLMEH - PR LDES
@ J{F—2No. 001
CREIOBREEET HARVRT, ARUDEEEID O MAERE LTSS ORUD R T — 5]

@ JI\F—>/No. 002
RUIDERIEZEULRT. BRETERD SINEERSUWBEORYIDFIET — 5]
% @QOAYIDHHT — D RERIRE SORAENR LD FHT,

TREOWIEE <. MBEIND 2.5 sec BBIBLESC LTS,
ZNLLE (3 sec M) OB81E. ARATREDA018D10POPA ZERALET.

o —fRAEIIDEEN - IR BHDIFS
RO HUBREIE, KOO, FBIOFETHADMRRDEATIENEN. AUDERNZE
B, SRRIIDRELIVSEN SN E Y. TOEAF. TEOMET -5 Z@mLED.

@ J¥— No. Q10 (THBHERICBIFHERVREAT —5)
J8F—>2No. 001 OEFFHFIEICH LT ERABOB LD A=V T EEELEBDTY,
M O SHAINEERE — TRUTDFNE - BB — EREDHURE - %R — DRUDARE - BB
@ . O &#HEIMNEAEE — TARUTDERE - %8 — PRIEDHUATE — ERUIDRNE - iR
— EREOHUER
@ )\¥—>/No. 020
J8F - No. 002 OBREFMEICEU T EREDRHLDY A Z VI ZEELICBDTY,
@ © BEEEINEEIE — THRUIDERE - BB — SRIBODMURRE - #8 — ERUIDEDRE - &R
@ BEHRIIEEIA — TARUDENE - B8 — FRIEDHURRE — ERUIDANE - R
— FRBOHUEBE
% HERAS (AT 2) £, T2t ETFRVDEBOY ) I~ 5B EHE T HADBDTT,
BT —-SDRIEREBICATILET,

o AHIERT F—Y—{FRiHE. 1 AOARPDICHBVWTEL 20 FDTFEIVY FEANILET,)
MERA (Ext Input) = HFNo. 2 /U S - —1%4H)
IR (Ext Qutput) = #F No. 4 (BREDH URNE - #iB)
SERHH (Ext Qutput) = twmF No. b (EBREIDENE - #i8)
=N
N

AERHT (Ext Output) i#F No. 6 (£—%—&@E ON - OFF)
SHEBHFT (Ext Output) imF No. 8 (AREIDATE - ®iR)




(5. Thread trimming drive control )

(Thread breakage detector has been factory-set to OFF at the time of delivery.)

Al thread trimming drive controls are performed with the sewing data input procedures by means of the external outptyl.
Create the thread trimming control data referring to 5-1 or 5-2 Sewing data input procedures and the attached service
disk data. In addition, the following four kinds of reference data are inputted in accordance with the sewing conditions.

@ In case of exclusive for seat belt without intermediate presser

@ Pattern No. 001
[Thread trimming control data in'the case where the thick thread which requires thread trimming time is used and
heating is desired to start from severat stitches before thread trimming.}

@ Pattern No. 002
[Thread trimming control data in the case where the thread which does not require thread trimming time and
heating is desired to start immediately after the completion of sewing.]

% Thread trimming control data (2 improves more the durability of the hot-wire plate itself,

To prevent the lower hot-wire from being broken, set the total heating time to less than 2.5 sec.
In the case where the time is more (within 3 sec), use the lower hot-wire for thick thread, D4018D10POPA.

® In case of sewing of general materials with intermediate presser

There is a case where needle thread falls in the approaching direction of hot-wire plate by the influence of twist of
thread or intermediate presser after needle thread feeding drive, thread trimming place is not stabilized and slip-off of
needle thread is apt to occur. In this case, apply the control data described below.

@ Pattern No. 010 {Sewing sample data at the time of delivery from the factory)
Needle thread feeding timing in terms of the drive procedure of Pattern No. 001 is changsd.
(D : Starting heating frem 9th stitch before thread trimming — bobbin thread trimmer forward/backward
-+ needle thread feeder forward/backward — needle thread trimmer forward/backward
(@ : Starting heating from 9th stitch before thread trimming — bobbin thread trimmer forward/backward
— needle thread feeder forward — needle thread trimmer forward/backward — needle thread feaeder backward

@ Pattern No. 020
Needle thread feeding timing in terms of the drive procedurea of Pattern No. 002 is changed.
(@ : Starting heating after sewing -+ bobbin thread trimmer forward/backward
— needle thread feeder forward/backward — needle thread trimmer forward/backward
@ : Starting heating after sewing — bobbin thread trimmer forward/backward — needle thread feeder forward
— needle thread trimmer forward/backward — needle thread feeder backward
# The external input (input terminal 2} is to check the waiting positions of the cylinders for needle/bobbin thread
trimmers for safety. This is inputted to the first and the last of the sewing data.

o Input/output terminal {Input two times each of the following commands at one time of thread trimming.)
External input {Ext Input) = Terminal No. 2 {Cylinder sensor detection)
External output {Ext Output) > Terminal No. 4 (Needle thread feeder forward/backward)
External output (Ext Qutput) => Terminal No. 5 (Needle thread trimmer forward/backward)
External output (Ext Quiput) = Terminal No. 6 {Heater ON/OFF)
External output (Ext Quiput) = Terminal No. 8 (Bobbin thread trimmer forward/backward)

10



095 §'L GURaSY G o oes gL RIS G IO
098 gL FUREIT T+ 088 P et
— — e MBS 2 E P Gz
- — v2 0asw 001 (a b kL e
— — ge BT R LD A LIS £2
- — ge PRl (=Xe), o LLisEs a2z
- — L2 (E03) LR G T (=Xe) e vas:- T Le
- — oz o8sW 00S (=N Pl £ I oz
— - 61 () (Y8 Gla%T (GO G LLRBs 61
— - gl 08sW Q0 (1@ FkL =1
- — Ll (T W R owsT O ¥ LI 21
- — 9L eSW 002 ca FAKrL 91
— - Si (F0E) WEEER OWsT & 0) t LORSRS Gl
— — ! (EW8) (S GladL g0 8 LR i
- — el 088U 00S sa I LGN el
— - 2l (HUE) (Y G oL 80 8 LLHES 2l
o8swW 00S yrL Pl 29SW Q0 | aa b L Lt
SRRl 9 LemgFs ol ot
- — S N O&EGiaY o)) Gl 6
— — g GYNE (W g'e=d) 75 B 8
L SRR IINEIE 8 G (o 9 [LHBS L
- — 9 QYN (W g'e=d) % % 9
— — g EE-FTY RBNTE G¥az g
— — 4 PR e e Zn 2 LY 4
- — e W% >
- o 2 G¥E e
— — L = =g L
& = 8
{02 N9 €00 ONZ=~&)M © HI = (02N9d) 10O ON Z—&M © £

wdt Q02" | FEMEW

wdi 002" | EHEMER

(200 °L00) BIE/YE—L<5% 1-C)

11



08S 8| IERGY G Y %8s gL RSO
998 gL RS o +oes P [ eI
- — =t HEsY o % I3 Sc
~ - ve 285w Q01 o) yrL ve
— - ge ERMBRTER- L0 € SR =T gc
— — ae SRR 20 S LRI cc
- - e (B8) (FEEN R oW S Je) v LTS L2
- - oz 0asw Q0L (L brrL oz
_ — Bl (B0 s G T (G 0) G LIS 6l
- — =41 g8swW 005 (g P FLGIERT gl
- - L1 (B8) oMY (0 G LRSS Al
- - =2 sasw Q0| (1 Q) b\ L gl
— —_ G1 (F0) PN RO T 44 o) ¥ LR Sl
- - vi (B8 TG =Xe) 8 LR vl
- - el 03sW Q0% (ca PP LO¥L el
- - cl (EX0H) G HY%L 80} B AR cl
oaswW 00g L il 288W 00 L (L FrL il
BT O CLRIHG ol ol
— — (5] NCEE GHY () Gy 8
- - 8 GYNE (Ww §'e=q) 3% & 8
L SHEREIIIRIE 6 G {9 0) 9 LSS L
- - < GYNE (Ww g'e=d) % B 9
— —r g iy AN UHTIG g E ] O¥az G
- - 4 HRETE— 4.5 @h YA 4
= - E B 2 £
~ - z GRE: &
— — L W = L
=% (02 N9d) 020 ONZ—&M ® | HIE =8 (02WOd) OLO ON/Z~—&M ® | B E

wdl goe’ L SEEH %

wdi 002" 1 HBGERY %

(_ (020 '0l0) HIELYS—L55 26)

12



29561 awn Buswwi peasy) [e1o ], 295 6'| sun Builuwiyy peaayy [elo
s8s gl s Bupeay O +085 vy aw) Buneay

— - ot ubo pug 0} LMy pusg Pr
— — ¥e 09SW 001 a AepQ ve
— — £e ywaayo uomsod Bunrem Josusg {zpn Z indut jeulsixy ez
g - 14 Buneay jo pug (00 g indino reussixy 2z
e — ¥ (premyoBd) 9AUD JAWWLL PEaIY) SIPIaN (s G IndINo feuIdxg L2
— — 0e 285W 00S (5 () Aejep BuluuLL peasy) a|paay 0z

— — 6l (premic)) 8ALID JBWWLE PESIY) BlpaaN (sl G Indino [euisIxy 61

- - el 08SW 00 Ha felaqg 84

— — i (premyioeq) 8AUp 18DOB) PESIYL Stp9aN ro) £ Indino [euwssixy Il

- — 9| 205 Q02 (zaq fepaq 9l

— — =1 {(pIEAMJUO]) DALID 19paa] PEBILL BPBeN (t O} ¥ Indino feuiexy St

— — i {PremyOBq) 8ALp JaWwL] peayl uiggod (8 0} g indino rewieg i

- — £1 288W 005 (g @) Aejep Bunuwiy peaiy} wiggog €1

— — Al (preamuc)) aaup JaWwwy) peaIy) uIgqog g0 g Indino [ews)x Al
295W Q0% feleq 1t 295w D01 L a Aelag L
Bujesy Buumig 9 3ndino feLIsIX3 0l ol
- -~ 6 NO eubis Gunuwi pesiy) o Bumkuwy peauy ] 8

—— — 8 Buyoms pes) asianas Buysiug {ww g'g = o) Bumag &

a Bulswi peasyy 21099 yains uie woly Suneey Bueig | (9 0) 9 Indino jeulaxy i

— — g Bugoms pesy astaasl Buueug {ww g'g = ) Bumes g

— — g uonisod pels Bumas o) Buinopy posy dwnp g

— — 4 HoaLo uonisod Bugrem osueg z1 2 indu peuseixsy ¥

— — e utfilo pug €

— — 2 pagy dwnr 2

— — L uibuo [eojueyoaiy uibeo 1

SHIBWIY sylewsay
(0ZWOd) 200 "ON usened () | npssold (0zZWD4) LO0 "ON widned (D anpasold

wdi pgz'y : paads Buimasg i

wds goz‘|L : poads Buimag i

13



29S 'L awp Bunuwu peely) 101 288 5| 2w Burwi) pesiy) @10,
095 g1 awin BuneaH D +08s | awp Bunesy

— . [+74 uiBuo pug o] wniey puz T A
_ - vz 288l 00 {+ @ fereg v
— — £e yoauyo uoisod Buglem Josuag (zp 2 1ndu) euieixg £
— — 2e funeay jo pug (g Q) g Indino [eLIeIxg z2z
. — L2 (PIEAMDEG) BALID JOPBD) PRSI JINoaN ()] ¥ indino [euieixy 12
- - 0e oasw 001 {(LQ Aelaq 0z

— — 61 (PIEMYOEG) BALD JOLULL) PRI SIPBSN {5 O} G ndino [eusaix3 6l

— — 8k 298W 00g & Rejeq. 8l

— — FA" (pIeml0)) BALID JOUWILLLL PESIL) BipRaN {5 @) A=pep Bunuwuy pesiyy s|paen Ll

. - 9l 295W 00 } (ta Aejeq gl

— —+ b1 {premio)) eaup lapaa) peslyl ajpasn (v Q) + Indino reuseyxg gl

— — 14 {preaorq) SALPD IRLILLL] pEaIL) uiggog {8 Q) g Indine euiaxy ral

- - et vasw 00S (g @ Aeep Buirwin peally Liggoeg £t

— — 2l (pJBMIOY) BALP JBLULLLY PEAIYL UIgqog (80 g INCINo [eusxy rA
298W 008 felaq L 2OSW 00 | (1 q feleq Ll
Buneey Buels ¢ 1IndINo |BLIBIXY oL oL
— — 6 NO [eufis Sujwwag peasy | o)} Buniwiy peeay | 8

— — 8 Buiyoyis pesy asianal Buuajug (W g'¢ = o) Buimes e

L Buisug pealy) a1058q Yyoms Wis wely Bugesy Buuelg (9 0) g Indino [pulSIXy i

— — 9 Buyoms pasj asieas) Huuajug (ww g'g = o) Bumeg 9

— — S uonisod ueys Bumes oy Bulnop paaj dunp g

- — ¥ yoeud vogisod Buliem losusg zD 2 indul [eutaig ¥

— — £ uifiuo pug €

— e 4 pasy dwnp z

— — L uiBuec jeoueyoa uiBuo L

syelsy Syetuay
{(0zWod) 020 ‘ON wianed () | NP0l {ozwod) 010 "ON wisned § aunpasold

wdi opz‘1 : poads Buimes

wd: pog'L - poads Bumas %

(__ (020 ‘010) seinpagoid indu ejep Buimss -z-g

14



(6. T5—IcDWT /Error )

E— Oy —ZBEULARTE T2 L &V U I-DEROGRNUBZHET B, VU T —
T —H 2 BAERESNTVE D,

¢ IS5—RA8H
ROOBELKET LTH, &Y UV Y —DRBABICRSFEVESY, BRIRARKEC, FYUVY—
D IERHREME AV EHBEEMIM UCRIC IS —DEEL, SV VORI ZFELEIEET,

& IS5—FEREEORLSGE
O FYUS—HEEEE, A5 >ED D IHBUE R TR CRNEVC ENER oNET,
T7—DOftgE—HEE L, FEDICTEREORRE LTS,
@ VU —THNTVWD YT —DUER TN TS L ENEABNET,
BT, VU Y- —0ORM ST (LED) BROU TV ENEHEEIEE L,
SUT7HEAO LTV AR B Y —EBER UZEESHFES T (LED) iiRKl I HUBICHEDE
THREBUBEEEL TSN,

¥ YA —OUEER AT T T TR UGS, Y —O— RO E .
T —BEOREBEREZ ONET. mBDOXE - BFERCSHEKIESL,

This sewing machine is mounted with the heat cutter and two cylinder sensors are set for safety in order to
check the normal waiting positions of the respective cylinders.

€ Purpose of error detection
An error oceurs when respective cylinders do not return to the waiting positions in spite of finish of thread
trimming action or when the contro! unit has judged that respective cylinders are not in the normal waiting
positions at the time of turning on the power or the like and the sewing machine is stopped to run.]

4 Cause of error and the corrective measure

{1 It is considered that respective cylinders are caught on something and cannot return to the waiting
positions when they are in operation. Temporatily stop the air supply, and make sure of the motion of the
cylinders by manual feeding.

@ It is considered that the position of sensor attached to the cylinder is shifted. Make sure whether or not
the red lamp (LED) of the cyfinder sensor lights up when the cylinder is in the waiting position.
When the lamp goes out, loosen the sensor fixing screw and adjust the red lamp (LED) to the position
where it lights up. Then fix the screw again.

% When the famp does not light up after the position of the cylinder sensor has been adjusted, disconnection
of the sensor cord or trouble of the sensor itself is considered.
Consult our nearby branch or business office.

15



& BEYUVY—REHET DD, RHEEIINEL,
(MEARTOADNEHPEPRELEATEONIRS . TORRICBVTRUD INREB TEE EA.)
D FTFROBE. Ea—ZXHWN TS = £ a—A358, (FALD7ca2—X1A)
@ LTAUDEBOE —% 10— kH, RUEHFTEMARZERILTLSD. = 1QAURDRESE.
@ THROEBEE. YUY -RT—F0OMMDIC DY UV —FERICEEHHELND, TV RAN
O—2F T FEEEDEREL TLIRLY,
= T 7—#HaFERL. U Y —FHEROS oD PN L ZHERT 5. 8 HE 55,
IV —AT—DREIE.

HUDBEBSIC LD, REIRNAEIDBENSOET.
ZOE. THGIROREROZ~BNDOBEEBD ETOTIERLIEEL,
@ TSRO = EMmAE T,

% C. THREIHMTETTABDEUSMBRUICWESDBDFTT, €0HSIE. BIEHODR
HFEAICELUTRIEAE HFTEEWN. (TEHERIE, HHIeRKEDR 1/2 (CRt)

& SYUY—REWET DO, ROPEEHICTIND.
® MEEFREOMEL,. = MEABEOEE., Fold. ETRUDT 1 A 54 LDiER. 18E b-1
® EARUDMEAENS > TUVEL, = B LB,

=\ iBanisnEg, FOE, RPUOUBATNTAYDTRELDFIOT. BLAR (HHEELTE

BB T— 7 —OEMIC LD, RUIDEFIOLRED U, BRI $HoEh 5k TLES
Hho) PEULEBVWEANSBEDULEESRVLLET .

@ TEFRCBRDITOTEHEAEETECND, B TRUIDEERFONEHE.

(T E=RIE, AROBERFO 1/2 LITHEE)
ST I HBITTER LTS, = BlEnS B TR EORMUEEE.
@ TERRICRS T HE 2TV D. = RJFDERE.

& SHARDBEVBSHICIRIITULE S,
FERBZ hSADBANTVND. = AZET,
@ SHREOLENMLL. » FREDHULY U VI —0OANO—U8%% <95,
® HOASICHUTHRIMETE D, #ITUHSRMRITEV. = REERTOHEERNT D,

# - & - #HVHA FOIERG WENE, ARG
# #O ~ 1 - #2~5 #8~ 20
#H FILH) % #26 - 25 #2h - 24 #2322
(aXw) Nm 230 - 200 Nm 200 - 180 Nm 160 - 140
EAVAVAR S % 9 4.5 p45or 935 ¢ 3.5
EIREIV VAR B 3 x 4.4 mm

16



& THROUGETHREL.
B REVT—ANSDAZDELEL. = TREDHULEZE D,
THROENHETED, = RE T —ARICH U CGRAODIRATH OB —EDRNDCTTR
HSiEHEHEV. RE—ADEFREETT .

€ BLBFHEL.
@® 4D RIDVWCERU. £HORBAKREICHT <D, X,
s GHTUHA ROTBEDHOATICHUTRKETED, #t7NHA FONNEENELT Do
BRURE, = 25 ZTZGDED.
w SFOTUCKH LRI EC, BIL-THREEL TS,
hEHZ OFEIR. & #25 (Nm 200) BO$hEFR (B1817210DAE) [T
%o 154 = D4008D10NAH
@ ROHEIESHV. = RBTFITORDORF. 2723 /OBIRETZHHT D,
FUINFLE. & HRICRDIRUN, 7723 vO—bLI—5—ZFEHTD.
= FHHIE DICRDBUARUN, $HEBT Y —EEF U CERRVEETS.
ADETEL, B EREANEBTED, ROZTITE. Fld, BIRBFFEHAT D,
= TALVHEERT .
@ ERE ROEKEND.
wp A HIODER S & B VRIESIIC K DAROMD RO BFE, D DBULRZFERT S,
w _ERODRDZE D Flold. BIRBFEERUTRICHND SERZIHEE .
mp PR A O—2ZNE<T Do

17



(7. Other troubles )
€ Thread is not trimmed at all aithough the respective cylinders operate.
(When thread breakage detection or temporary stop during heating is performed, thread trimming
heating in the sewing cannot be performed.)
(O In case of needle and bobbin threads, the fuse has blown. = Replace the fuse. (Time-lag fuse 1A}
{2) Contact trouble of heater cords of the needle and bobbin thread trimmers has occurred due to loose screw.
=» Make sure of tightening the screw,
3 In case of bobbin thread, a load is applied to the cylinder when it goes and back by the bend of cylinder
stay or the like, and the lower hot-wire does not reach to the end stroke.
=» Stop the air supply and check that the cylinder is not caught with anything when it goes and back.
When there is a load, correct the cylinder stay.

~. There is a case where the insulating plate is fused by excess of thread trimming time.
122
At this time, this phenomenon becomes a main cause that the lower hot-wire plate is caught when

it goes and back. So, be careful.

@ Breakage of upper/lower hot wire plates = Replace the broken plate with a plate supplied with the
machine.

# In addition, there is a case where bobbin thread feeding is hard to function since bobbin thread tension is
excessive. In this case, turn the knob of air regulating valve clockwise to increase the air pressure.
(Air pressure has been decreased to approximately 1/2 of the supplying air pressure at the time of delivery
from the factory.)

€ Respective cylinders operate. However, thread is not sufficiently trimmed.
& Heating time is short. = Lengthen the heating time. Or, lengthten needle/bobbin thread delay time.
ftem &5-1
6 Needle thread trimming position is not properly adjusted. =» Recheck the positioning.

There is a case where one stitch at the last sewing section slips from the material when needle
oo thread is fed immediately before thread trimming in accordance with the sewing data or materiais.
é At this time, take the corrective measure such as sewing direction (ending in the right-hand
direction sewing) or entering the reverse feed stitching since thread trimming position is shifted
resulting in thread trimming failure.

(@ Clearance between lower hot-wire plate and hot-wire support is excessively wide.
= Adjust the position of the whole bobbin thread trimmer.
(It is ideal that the clearance is less than 1/2 of the diameter of thread.)
Hot-wire support is fused and deformed. =b Turn the support to change the contact position with the
hot-wire plate.
(@ Waste thread collects on the lower hot-wire plate. = Remove the waste thread.

€ Needle thread slips off at the start of sewing.
Thread comes off from the needte thread presser. = Pass the thread.
@ Amount of the remaining thread is small. ® Increase the stroke amount of needle thread feeder cylinder.
@@ Thread is too thin for the thickness of needle. Thread is apt to slip off from needle eyelet.
=p Select a needle of optimum thickness.

18



Application example of thread, needle and needle hole guide
* marks mean the parts provided as standard.

Thread #0to i #2106 #81t0 20
Needle (ORGAN) % #26 and 25 #25 and 24 #23 and 22
{SCHMETZ} Nm 230 and 200 iNm 200 and 180 Nm 160 and 140
Needle hole guide * ¢ 4.5 @ 450r ¢35 ¢ 3.5
Qval needle hole guide 3 x4.4mm

€ Bobbin thread cannot be knotted.
43 Amount of remaining thread from bobbin case is short. = Increase bobbin thread feeding amount.
Bobbin thread tension is excessively high. = Bobbin thread cannot be drawn out at a fixed tension since
the tension in terms of bobbin case specification is a limit.
Decrease the spring pressure of bobbin case.

€ Sewing is not properly performed.
@® Material flops and stitch skipping occurs. The inside part of material comes out on the surface. Change
of color
= Hole diameter of the needle hole guide is too large for the thickness of needle.
Decrease the hole diameter of the needle hole guide.
Stitch skipping occurs. = Adjust the hook timing.
=» Thread is too thin for the needle eyelet and loop on the back ocours.
Select shuttle race ring asm. E (B1817210DAE) for needie #25 (Nm200).
Standard = D4008D10NAH
(2 Thread is not tightened well. = Tension with tension disk is a limit.
Use the optional thread tension No. 3 together.
Thread breakage occurs. = Thread breakage by needle heat Use the optional needte cooler.
mp Sewing thread is broken by needle sticking.
Change the needle entry data to avoid double stitching.
Hangnail of thread = Needle thread tension is excessively high. Decrease the tension.
Or, use thread tension No. 3 together.
= Use silicone oil.
@3 Single yarmn floats. Thread wobbles.
=» Return of twisting occurs by hardness of material and high thread tension.
Use a thread of which the twist is strong.
= Decrease needle thread tension.
Or, use thread tension No. 3 to disperse the friction applied to thread.
=» Decrease the intermediate presser stroke.

19



WSY AHOD AKdNS HAMO HELYIH I
I (YHYNOLOZL0SQ) Bl —CHR—&—2

“1dHOD _
HBNHOISNYHL WSY AYVI3Y YILYIH ‘WSY aHYOo8

HI1V3H B—10—&—23 LNDHID D0Wd SWY 04

WY
] e fGo
By o —6—7 HYNOLJ9Z0Sa ~-BENHE DA SINY QHYOS LINJHID wWeY l
HYNQLA0Z05%C m

1 SNO ¥ ND HIMOd SNV HIANLOASNYHL

iR H3IMOd HEMOd SWY
- _Hufy,ﬂ_.l..H_ .._r | SWY Y. <o~ B SN |
Y RV L8d |ZEF ger| gtd

1 3Hd0  HIV 1

H3HdO HiIv 7! oirT otd
MS HIV
IATIVA HIV SV - - WSV QHVOS
LINDHID NIVIN SY = MS dOLS
WSY V 318V IATYA CIONZTI0S i W NIYIN SNV MYIHE HL

BV N — L4 EE _ HIQOHO A
dvdoLaLoosa "DHO X

UISIMS SNV

oW WHL I gLP m_.ln_ ted 196

Itd onr
: _ gip
VM N 8IF 61d |

W 110

QIONTT0S SY _ !

8id

"IYA 31002 3T0IEN
HER—~C—LAA—2 A
NOtLdO] L] I . -

HYy
|

“TYA € "ON NOQISNIL QVIHHL INSY HOSNIS HAANITAD

E%MW%%& es - QUOD AVIIH HOSNIS BACALER N

I
o | o ~CHh L HYNOLTLLOST
] dvdoLavoosa

“TYA HEWNIEL QYEHHL NIBSOS
G

r

1 1
; _
1 ‘usg |
e "dH “1AD WOLLOS | |
I |
I 1
" |
". !

Hi
I

| ¥O8 TOHLNOD SWNY
"TYA DNIGESS GYEHHL b A MO SINY
BN P GERY

‘UBS “dH "1AD dOL

.. LND

HY

TIYAHIWAIEL VIBHLE 31033N
HUEGINT

ewig]

At

( WYHDVIa X0019 / Blg<0L "IN )

20



Jojenbay o

(@-ww ootL) i;.inﬁ sssssss Ny
{g310v009018) 9 ¢ aqmi 1y : (- - - ~) suy ua)oig g £ “ON NOISNAL OVEHHL OL / 88 € 3 ui008) \
{(831s200t018) ¥ @ Sqm Aty & (——) 3U1 |INd "1 m@ |
|
(89100009019) Q@ L—TE£—LT 8 (- - - ~) @@ 2 m
(83152007018) ¥ P LT f—od T “§) (—) B2 @) !
* \—
\ 0 - (ww poL)
& - (ww gL 1
JopupAs Bujtuwiia ] peaJUl wqqog 0L
— &l QB T T T e morE a_
8-0E-0L820GD X ERU—DL—~LT *
! “
ZL
apunin Bulwuu g, pealy) s|pasn | H @ vondo H h @ uondo q
AR GEET . |
£, . I L—
e g-5t-0182ras \mf f |
o= . | i [ I—
z 3560916065 | VL | fwwoortt - A /
) L 000L050¥LAd | £ g
L POSOVOPOErd | Zh -
L QvdLz20esyd LE ( Q (i 0spH) r
L OHOVELSE0Nd | OL @ - (ww gze1L}
(1} 1 Z00005020rd | 6 5
z 000 LOS0L04d g c_umw_m% Mﬂ*ﬂ%_ugz %Mu
L £01590L0Erd | £ 04-0ZZET-9LENEND
z £052509¢00d g
1 000LO¥ELODd | S - w 00e1)
(1) L 4 £06250220rd ¥ s~
: Ov0IS00Lvd | € @ {wuw gzg1L)
i QVvE00P0a1Lvd 14
! OVPE0R00LVd L
@-uopdo (p-uondo piepuns ‘ON LUvd "ON
@-rEnLk Q-REELE ) B = HYNOLOZL0VQ = WSV £ 'ON NOISNIL AVIHHL / B{EHE € 8 = @ -uondo
ALD /6 Bl HIN00D A1AFAN/ —£—5 A —= = (D -uondo

( NVHOVIC ONIdId HIV / BEIEE—LT " A )

21




(v.I\=YUZ b /PARTS LIST

1. UPPER HOTWIRE COMPONENTS

22



REF. NG _ NOTE _ _ PARTNO. ] DESCRIPTION . | S A aty |
1 DI015-DI0-NOH  ADJUST PLATE VAT 1
2 $S-2111010-TP  SCREW [1/64-40 L=9.5 TRy 11/64-40 L=8.5 2
3 121-14716 PRESSER REGULATOR SCREW AYIFATLIEY 1
4 121-14807 PRESSER REGULATOR NUT AYT Favkyiyh 2
5 D1001-D10-NOH  FIXED PLATE 15445 1
6 B2549-372-000  CLAMP SCREW A EFEN - 1ARY A I
7 B3125-155-000  DISK SPRING 83 0% 2
8 SD-0550451-SP HINGE SCREW ¥ vEY 2
9 §P-0531001-SC  WASHER B 3 I8 ETA NS 1

10 B3418-245-000  SPRING HOLDER b§ 7Y I Ry 1

i1 SSTB110422-TP  SCREW 11/64-40 L=4 A5 11/64-40 L4 I

12 SL-4040891-SC  SCREW M4 L=8 $° 0 37% FA I3 M4 L=8 3

13 D4001-DI0-POP  SLIDE SHAFT GUIDE 2SN Y I AN 1

14 D4002-D10-POP  HEATER SHAFT FIXED BASE b-k-F aFfs 4 1

15 D4003-D10-POP  CYLINDER FITTING BASE SIVE VI A 1

16 D4004-D10-POP  MOT-WIRE PROTECT COVER FICVET I - I

17 D4005-D10-POP  HOT-WIRE SHAFT UEE SR 1

18 D4006-D10-POP  HOT-WIRE YRFIEYY 7 1

19 D4007-D10-POP  HOT-WIRE PLATE 114 1

20 D4008-D10-POP  HOT-WIRE GUIDE PLATE AT AL, 2

71 4009-D10-P0P  UPPER HOT-WIRE FITTING PLATE TRSEVELEL: ]

22 D4010-D10-POP  UPPER HOT-WIRE COVER PIRIEVIN - I

23 SM-8041552-TP  SCREW M4 L=15 AR 2

24 SM-9041050-SC  SCREW M4X0.7 L=10 myAZE b M4X0.7 L=10 2

25 NM-6040003-SC  NUT M4 nyhsh M4 4

36 WP-0430801-SC  WASHER 4. 3X9X0.8 E5¥ 7 % 4, 3X0X0.8 7

27 WS-0410002-KN  SPRING WASHER N AR N4 5

28 S1,-4030691-SC  SCREW M3X6 FATIEY BAZ M3X0.5 L=6 4

29 SL-4041091-SC  SCREW M4 L=10 FAIFY ¥AZ M4X0.7 L=10 2

30 $5-7060310-SP  SCREW 3/32-56 L=3 Yhe7Ey 3/32-56 1=3 3

31 PA-1004510-A0  AIR CYLINDER I7YIVE I

32 PX-5000500-A0  BRACKET *MaF WITE B !

33 PJ-0460525-03  HOSE ELBOW -2 T 2

34 CH-3003000-01  SEAL WAV Fai49-A2(16) 1

35 D5021-D10-NAH  HEATER CORD ASM. E-da-b 73 2

23



2.LOWER HOT~WIRE COMPONENTS
TR GR

2 .

REF, NO_ KOTE _ _ PARTNO. | DESCRIPTION . [ S N R Qry
1 B4017-D1G-POP LOWER THREAD FEEDER YAy 1
2 p4018-B106-POP LOWER HOT-WIRE FARTRY i
3 D4019-b10-POP THREAD TRIMMER BASE {hEUa" -2 I
4 D2001-D10-NOH CYLINDER STAY P9uR A7 - 1
5 D2003-D10-NOH GUIDE BASE FRAMIA (DA 4 1
6 D2004-D10-NOH GUIDE BAR TYHFE Y 1
7 D2005-D10-NOH COVER 1N - 1
8 D2007-DI0-NOH INSULATIRG PLATE G L AVELIt 1
9 PA-1003024-A0 AIR CYLINDER y-vr l

10 PF-03205625-03 HOSE NIPPLE FA=Y7 A 1
11 PX-5000500-A0 BRACKET AyF WY R i
12 PJ-3040405-04 ELBOW UNLON IR 1zfy 1
i3 55-4110615-8P SCREW 11/64-40 L=6 Far 23y 11/64-40 L=6 2
14 $5-4060310-8P SCREW 3/32-56 1L=2.56 Fat 33" 3/32-66 L=2.5 2
15 54-40405G1-8N SCREW M4X0.7 L=5 Far a3y M4X0.7 L=5 1
16 - S¥-8030302-TP SCREW M3X0.5 L=3 bA+Y M3X0.5 L=3 2
17 SM-0040601-SC SCREW M4X0.7 L=6 FFA327 M4X0,7 L=6 2
18 SH-4031851-SR SCREW FAT 323 M3 L=18 pA
19 SM-103080]1-8C SCREW M3 1.=8 3523y M3X0.5 L=8 2
20 NM-6030001-SC NUT M3 nyhrigh M3X0.5 1ya 2
21 ¥P-0430800-5C WASHER M4 YN 3 IR AV M4 3
22 Wp-0320500-5C WASHER M3 eI A3 ah Avh M3 4
23 WS-0310002-KN SPRING WASHER M3 nRE RT3 3.1X6.8X0.7 4
24 CH-3003000-01 SEAL oA Fani¥-42(16) 1
25 #01  D4018-Di0-POP-A  LOWER HOT-WIRE RS =LV EVA 1

NOTE (3:E2)

#01....0PTIONAL PARTS

A7 yav

24



3.NEEDLE THREAD FEEDER COMPONENTS
EARERY H UBIR

—

REF. NO_ _ NOTE PARTNO. ________ 1 DESCRIPTION ... SR U Qy
1 D4011-B10~-POP  CONNECTING ARM Vukduy 2
2 D4012-D10-POP  V FORM CONNECTING ARM Vi sbvhns 1
3 D4013-D10-POP  CYLINBER CONNECTING ARM FIVE Ly 1
4 D4014-D16G-POF  UPPER THREAD EXORCIZE YEARRN T4 1
b D4015-D10-POP  CYLINDER STAY yvR 75 - 1
6 P4016-D10-POP  FITTING BASE a2 M 4 1
7 §5-9111010-SP  SCREW 11/64-40 L=8.5 EIA7E A 11/64-40 L=9,5 2
8 WP-0450801-8D  WASHER 4,5X10X0.8 e7E A % 4.5X10X0.8 2
9 WP-0531001-SC  WASHER |75 A A By A S L 2

10 WS-0510002-KN  SPRING WASHER NI R 6.1X8.2X1,3 1

11 SD-0640271-TP  HINGE SCREW LAV S 6

12 PA-1604003-A0  AIR CYLINDER Iy-yova 1

13 PJ-0320625-03  HOSE NIPPLE A=Y A 2

14 §58-4111015-8F  SCREW 11/64-40 L=10 AT 3F 11/64-40 L=10 4

25



4, SOLENOID VAIVE & OTHER COMPONENTS (1)
B - TOM@BE (1)

REF RO NOTE  PART®O. . DESCRIPTLON . ... LA S A Qy
1 PV-0351240-B0  SOLENOID VALVE ASM. FUy Aty (43) 1
2 PJ-3010651-03  HALF UNION 6XPT1/8 n-72zkY 1
3 PF-0705010-00  PRESSURE DECREASING VALVE Izfa7 FTUFIN Y 2
4 PJ-0320625-03  HOSE NIPPLE RIRZITR 4
5 SK-3312500-SE  WOOD SCREW D=3.1 L=25 hErsy D=3.1 L=25 2
& WP-0320500-SC  WASHER M3 bF¥t T ko2 AR M3 2
7 BT-0400251-EB  URETHANE HOSE, BLACK L avE-2 oo 7.6
8 BT-0600401-EB  TUBE f1-7 0.8
9 MAT-81163T0¢ CORD HOLDER aJ-b A 1

10 B1145-216-000  INSTALLING BASE NIAMARL R OIFR A 1

11 101-29104 THREAD PRESSER PLATE IVEIY S22 ¢ ]

12 B1132-521-000  THREAD PRESSER PLATE SPRING AR AVELR N R 1

13 $§-7090910-SP  SCREW 9/64-40 L= 8.5 vALSFY 0/64-40 L=8.5 1

14 $P-0380551-SL  HINGE SCREW D= 3.80 H= 5.5 2 u3y D=3.8 H=5.5 1

26



5.SOLENOID VALVE & OTHER COMPONENTS (2)
WS - TORBER (2)

REF. X0 NOTE__ _ PARTNO. ] DESCRIPTIOR ... | SRR S A Qy
1 D4005-D10-NOH  NEEDLE PLATE SUPPORT COVER(AL) ALAGNIL RS apn’ ~ 1
2 D4006-D10-NOH  COVER SHEET fint =¥-h 1
3 D4007-140-NOH  CYLINDER ARM CAP ALISHTIN - 1
4 D4008-D10-NAH  SHUTTLE RACE RING ASM. H FHhih vAY IRy g 1
5 B1828-210-DAC  BOBBIN CASE ASM, B vr-ans 1
6 B1806-210-D0A  BOBBIN ey 1
7 B1815-210-D0A  SPRING AAH whzn 3 1
8 D4009-D10-NOH  SHUTTLE DRIVER (FOR #8) B3R - 1
9 MDP-17082600 NELDLE DPX17 #26 nY DPX17 #26 ]

10 B160i-210-D0OC-A TNTERMEDIATE PRESSER C Fhayrc 1

1 D400I-D10-NOH  NEEDLE PLATE ni{4 1

12 D4002-D10-NOH  NEEDLE HOLE GUIDE D=4.5 4. 50 7HF 413 1

13 #01 Db4002-PL10-NOK  NEEDLE HOLE GUIDE D=3.5 350U HE A 1

i4 #01 D4021-P10-POP  ELLIPSE NEEDLE HOLE GUIDE 2 IYRITH Ah 1

I5 D4004-D10-NOH  HOT-WIRE SUPPORT LPAYVE 1

la §8-2060320-5P  SCREW 3/32-56 L= 3.2 74y 3/32-56 L=3.2 3

17 D4003-D10-NOH  INSULATING PLATE F tr yIv4aF i

18 HX-0015000~0M  CABLE CLIP -7 % 7997 3

19 §5-4110915-8P  SCREW 11/64-40 L=9 FaT 23 11/64-40 L=9 3

20 501 MBP-170B2500 NEEDLE DPX17 #25 ny DPX17 #25 |

21 #01 Bi817-210-DAE  SHUTTLE RACE RING ASK. K TN RISy i

NOTE (7E&)

#01. .. . OPTIONAL PARTS

A7 Tay il g

w2

27



6. ELECTRICAL EQUIPMENT COMPONENTS

1 SL-4031481-5C  SCREW M3 X 14 Far 2%y bAZ M3X0.5 L=14 2
2 11X-0033900-00  STUD N YN -3 4
3 NM-6030001-8C  NUT M3 oyHsF9h H3X0.5 132 2
4 WS-0310002-KN  SPRING WASHER M3 AR R 3.1X5.9%0.7 2
5 WP-0320500-SC  WASHER M3 vEyt i R aht Avhk M3 2
6 D5001-D10-PAP  SOLENCID VALVE CABLE A ASM. FYYTNT uE-7 RAYR 1
7 D5004-D1G-PAP  SENSOR RELAY CORD Yvifayifa-p 1
8 D5011-B10-NAH  CYLINDER SENSOR ASM. FUNE S 5 A i
9 SK-3451601-8C  WOOD SCREW MAESY 4
i D5017-D10-NAH-A HEATER POWER SUPPLY CORD ASM. b-2F vht va-b IR 1
11 HF-0014001-00 FUSE ba-%' 2
12 D5026-B10-NAH  HEATER RELAY ASM. b-2-B-73 1
13 B5025-D10-NOH  HEATER RELAY INSTALLING PLATE b-20L - IIs14 1
14 D5020-D10-NAK  HEATER TRANSFORMER COMPL. b-Ah YRR 1
16 G5604-341-000  TRANSFORMER COVER RFYIIN - 1
16 DHO21-D1CG-NAH  HEATER CORD ASM. t-fa-b 73 4
17 D5022-D10-NAH  HEATER TRANSFORMER ASN. b-2bFVAR 1
i8 5L-4040891-SC  SCREW M4 L=8 B FY% AT 23y M4 L=8 4

28






JUKI B4t

JUKI CORPORATION

INTERNATIONAL SALES DIVISION

Copyright © 2000 JUKI CORPORATION.
ABONEERETHHE. BE 7L L2
LLELFET,

Al rights reserved throughout the world.

To order or for further information, please contact :

COESOENHCOVWTRALRAGD FLLOBROOBEFELF LU SEMCBHALEHEEEWL,
% COEBHIBE / N—YUZ MITIRYIROEDTFERCEETIHFHEDET.
Please do not hesitate to contact our distributors or agents in your area for further information when necessary.

* The description covered in this instruction manual / Parts list is subject to change for improvement of the
commodity without notice.

00 - 10 Printed in Japan {E)



